CLASSEMENT
(nb d'étoiles, d'épis

CAPACITE o de o) 2 O 1 8
(I'arrété de
classement doit
étre fourni)
Taux (taxe
?dditionnelle Montant
départementale
comprise)

2 néant 0 =

3 néant 07 e
4 néant 00 =

5 néant 07 =
6 néant 00 =
7 néant 07 —
3 néant 00 —
9 néant 07 22
10 néant 0 =
T néant 0,75 247,5
12 néant 00 =
16 néant 07> =
- 1 0,75 45

: 1 0,75 67,5
3 1 0,75 20

. 1 0,75 112,5
> 1 0,75 135
s 1 0,75 157,5
. 1 0,75 180
5 1 0,75 202,5
2 1 0,75 225
T 1 0,75 247,5
- 1 0,75 270
E > 0.8 48

2 : 0.8 72

3 : 0.8 9%

: : 0.8 120
> : 0.8 144
6 : 0.8 168
7 : 0.8 192
8 : 0.8 216
9 : 0.8 240
10 : 0.8 264
L1 : 0.8 288
E : 1 60

2 - 1 90

3 - 1 120
: x 1 150
> - 1 180
6 x 1 210
r - 1 240
8 x 1 270
9 - 1 300
10 x 1 330
L1 - 1 360
- 2 1,2 2

2 : 12 108
3 : 12 144
: : 12 180
> : 12 216
° . 12 252
7 . 12 288
8 . 12 324
] . 12 360
10 . 12 396
L1 . 12 432




